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DI Mixed Chart Questions for SBI Clerk Mains, IBPS Clerk Mains, 

RBI Assistant Mains, LIC AAO, SBI PO Pre and IBPS PO Pre Exams. 
DI Mixed Chart No  68 
 

Directions : Study the following mixed chart caerfully and answer the questions given 
beside. 
 

The chart given below shows the number of positive COVID-19 cases reported in four countries and 
percentage of people who died and those who recovered from the reported cases. Rest of them are active 
cases.  

 
  

 

1. What is the difference between the death count in Italy and Spain?   

A. 890   B. 840   C. 825   D. 750   E. None of these 

 
2. What is the total number of active cases in Spain? 

A. 16560  B. 13750  C. 17260  D. 16860  E. 15650 

 

3. What is the total number of deaths in four countries? 

A. 10012  B. 9457  C. 9324  D. 9487  E. 9557 
 

4. If 25% of the active cases in Iran are females, what is the number of active male cases 
in Iran? 

A. 7250  B. 7380  C. 6450  D. 7460  E. None of these 

 



 

5.  The number of people who recovered in India are what percent of the people who 
recovered in Spain? 

A. 5.83%  B. 7.14%  C. 8.25%  D. 6.67%  E. 6.25%  
 

 

Correct Answers: 

1 2 3 4 5 

E A B B D 
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Common Explanation: 
 
In Italy, 
 
Total cases = 22000 
 

Deaths = 12.5% (22000) =  
22000 

 = 2750 
8 

 

Recovered = 25% (22000) =  
22000 

 = 5500 
4 

 
Active cases = 22000 – 2750 – 5500 = 13750 
 
Similarly, calculating for each country we get: 
 

Country Cases Deaths Recovered Active 

Italy 22000 2750 5500 13750 

Spain 24000 3600 3840 16560 

Iran 18450 3075 5535 9840 

India 640 32 256 352 
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Answers :  
 
1.   From common explanation, we have 
 

Required difference = 3600 – 2750 = 850 
 

Hence, option E is correct. 
 

 

2. From common explanation, we have 
 

Active cases in Spain = 16560 
 

Hence, option A is correct. 
 

 

3. From common explanation, we have 
 

Required sum = 2750 + 3600 + 3075 + 32 = 9457 
 

Hence, option B is correct 
 

 
4.   From common explanation, we have 

 

Active male cases = 75% =  
75 

 × 9840 = 7380 
100 

 
Hence, option B is correct. 

 

 

5. From common explanation, we have 

 

Reqd. % =  
256 

 × 100 = 6.67% 
3840 

 
Hence, option D is correct. 
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